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and S be the regions in the first quadrant shown in the fi

. fzegioﬂ R is bounded by the x-axi gure to the right.

s and the graphs of y = tanx and 1

dﬁfj Z 3T esion Sis bounded by the y-axis and the graphs of y = tanx N N
| 3 Vs/ \(—[}:r’g)
‘(’CLV\X:.?—)( /RS
ot (902155, 1,24 575) A, T
=(A , B

a) Find the area of R.
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b) Find the area of S.
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c¢) Find the volume of the solid generated when S is revolved around the x-axis.
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a) Find the area of R,
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b) Find the area of S.
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¢) Find the volume of the solid generated when R is revolved around the x-axis.
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